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Exam Id
Name:
Exam Date: 12-Mar-2023
Module Name: Teachers
Duration 120
Batch: 15:30-17:30
1) General Studies
Question No. 1 1.00
Bookmark
The uplifted parts of the block mountain is called:
gd 996 (block mountain) & QUg Q0 21T 2°¢l (uplifted parts) q LI .
(A) O Grabens
9l6a (Grabens)
(B) O Folds
6ePImel (Folds)

(C) O Rift Valleys
QF QIR (Rift Valleys)
(D) O Horsts (Correct Alternative) (Choosen Option)
6eld (Horsts) (Correct Alternative) (Choosen Option)

Question No. 2 1.00
Bookmark
Which schedule of the Indian Constitution contains provisions regarding 'anti-defection'?
QARG FRIGR 682 2AGYE (schedule) 69 'ARSTR TERU' (anti-defection) IAREG FUSLIFER AR?
(A) O T7th Schedule
761 2995
(B) O 10th Schedule (Correct Alternative) (Choosen Option)
1091 21g9E (Correct Alternative) (Choosen Option)
(C) O 9th Schedule
9¢1 2945
(D) O 4th Schedule
42 2996

Question No. 3 1.00
Bookmark
Which Part was added to the Indian Constitution by the 74th Constitutional Amendment Act of 19927
1992 Q 7406 ARIF L°6RIF 2RYTAA IR QL1 ATRIFER 606 @Iolg 64T JImI?
(A) O PartIV-A
@l IV-A
(B) O PartXll
@il Xl
(C) O PartVi
@il VI
(D) O Part IX-A (Correct Alternative) (Choosen Option)
@U%l IX-A (Correct Alternative) (Choosen Option)

Question No. 4 1.00
Bookmark
Which of the following lakes is located between Godavari and Krishna river?
69IQISRY B §YI ©G1 F1I6R FINYS 6674 8& 2STS?
(A) O Suurinsar-Mansar (Choosen Option)
JRLAIR-AISARX (Suurinsar-Mansar) (Choosen Option)
(B) © Sambar lake
49 29 (Sambar lake)
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(C) O Deepar Beel
Q19I5 SR (Deepar Beel)
(D) O Kolleru Lake (Correct Alternative)
ceRlemQ €4 (Kolleru Lake) (Correct Alternative)

Question No. 5 1.00

Bookmark
Who among the following drafted the Gandhian Plan (an Economic Plan)?

FOnge® FRIQ @9 SIM2le Y9 (Gandhian Plan) (4% 221686 6d1GS1 |1 an Economic Plan) @ Q9gIide
aowRlem?
(A) O Shriman Narayan Agarwal (Correct Alternative)
ghale QIS 2IG1NEIMm (Sriman Narayan Agarwal) (Correct Alternative)
(B) O P.C. Mahalanobis (Choosen Option)
a. 9. AIFIRERIFY (P.C. Mahalanobis) (Choosen Option)
(C) O Jawaharlal Nehru
@RITIMIM 676TQ
(D) © Mahatma Gandhi
£121e]l Gl

Question No. 6 1.00

Bookmark
Which of the following Articles of the Indian Constitution deals with the Original Jurisdiction of the
Supreme Court?

QUSRI TR FYRSS 69Q AN, I6SI5UERS FYIIRLL (Supreme Court) @ ¢]fn 6QLRIFID (Original)
Jurisdiction 98¢ Q&G 265'?
(A) O Article 131 (Correct Alternative) (Choosen Option)
Il 131 (Correct Alternative) (Choosen Option)
(B) O Article 133
gl 133
(C) O Article 141
It 141
(D) O Article 137
QU 137

Question No. 7 1.00

Bookmark
Who presided over the Gaya session of the Indian national Congress in 19227

1922 60l QIRRIE RIS F°6999 GIEl 26961e (Gaya session) Q @ HRIUGE FR2I6M?
(A) © Motilal Nehru (Choosen Option)
EAITRIM 6962Q (Choosen Option)
(B) O Chittaranjan Das (Correct Alternative)
CANGS Q19 (Correct Alternative)
(C) O Bala Gangadhar Tilak
QIR FEPRIS SRS
(D) O Jawaharlal Nehru
@RLIOMIM 6REER

Question No. 8 1.00

Bookmark
Which of the following is a multilateral environmental agreement that aims to protect human health and
the environment against the adverse effects of hazardous wastes?

FIRYS IR 6R6T, 66159 @EAITR AR6S4 998G §@ (multilateral environmental agreement) 266, LIS
FIRe gy 98° JR6Eg SUgee G‘ﬁ(%‘g (hazardous wastes) @ 9ogR dRISQ Q&I [%2IN?
(A) O Stockholm Convention (Choosen Option)
YAR6LIE DFRET (Stockholm Convention) (Choosen Option)
(B) O Cartegena Convention
Ql6g6ae| AR (Cartegena Convention)
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(C) O Vienna Convention
@9el 98RE1 (Vienna Convention)
(D) O Basel Convention (Correct Alternative)
Qle9m AFRG1 (Basel Convention) (Correct Alternative)

Question No. 9 1.00
Bookmark
Which of the following Movements was started by Mahatma Gandhi in 19427
1942 62 A19IF]l AN I FIRGS 6RQ 2I6LIRE AR @odI@emi?
(A) O Quit India Movement (Correct Alternative) (Choosen Option)
WIACEIL AIGLIWS (Correct Alternative) (Choosen Option)
(B) © Ghadar Movement
QA 2I6RING (Ghadar Movement)
(C) O Non-cooperation movement
agaaedlol 2leRIne
(D) O Santhal Movement
digii 2eLing

Question No. 10 1.00
Bookmark
When was the "New Economic Policy" introduced in India?
LACTED 66 "GP 22eRoa 618 (New Economic Policy)" eI6eT mlg 6%QImI?
(A) O 1985
1985

(B) © 1991 (Correct Alternative)
1991 (Correct Alternative)
(C) © 2000
2000

(D) © 1999
1999

Question No. 11 1.00
Bookmark
Who defeated Prithviraj Chauhan in the Second Battle of Tarain in 1192 AD?

1192 AD 69 G610 CURS LS (Second Battle of Tarain) 62 GG 651L1S (Prithviraj Chauhan) & &9
AL AQEM?

(A) O Firuz Shah Tughlaq
TERUR ST QIS
(B) O Mahmud of Ghazni
C124Q ARG
(C) O Alauddin Khalji
ARIAMS Sma@
(D) O Muhammad Ghori (Correct Alternative) (Choosen Option)
ALFQ 64IQ (Correct Alternative) (Choosen Option)

Question No. 12 1.00

Bookmark
Which of the following articles of the Indian Constitution deals with the 'abolition of untouchability"?

QUG SRR FYMYE 60 I, '2YVYS] QERQ" (abolition of untouchability) 96 8&€6?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

(A) O Article 14
gl 14
(B) O Article 23
il 23
(C) O Article 19
Mgl 19
(D) O Article 17 (Correct Alternative) (Choosen Option)
AIgY 17 (Correct Alternative) (Choosen Option)

Question No. 13 1.00

Bookmark
Fundamental duties of the Indian Constitution are applicable to:

QNG ARG 6£10F FEGYGER (Fundamental duties) AR gL 2168 |
(A) O Both Indian citizens and foreigners
QR VNG QIFIAR 9Q° T6QENAIeE (Both Indian citizens and foreigners)
(B) O Armed forces personnel only
6RQ9m %_Qﬂl@ﬁﬂlﬁ‘ﬁ? (Armed forces personnel only)
(C) O Foreigners only
6QRem B6QENaIaw (Foreigners only)
(D) O Indian Citizens only (Correct Alternative) (Choosen Option)
69N QNG R FISIRGS (Indian Citizens only) (Correct Alternative) (Choosen Option)

Question No. 14 1.00

Bookmark
Where does the river Yamuna join with the river Ganga?

6900169 FEP 941 98 AR 0919 ARG 6LIRR?
(A) O Panipat

dIFae
(B) O Haridwar

2091
(C) O Prayagraj (Correct Alternative) (Choosen Option)
dalelU@ (Correct Alternative) (Choosen Option)

(D) O Delhi
QR

Question No. 15 1.00

Bookmark
When is the World Water Day celebrated annually?

oda 664 G169, Q¢ @f 99 (World Water Day) QIfe §9?
(A) O 2nd February (Choosen Option)
2 62Pqail (Choosen Option)
(B) O 22nd March (Correct Alternative)
22 €lIE (Correct Alternative)
(C) O 5th June
54a
(D) O 16th September
16 6L1645IRN

Question No. 16 1.00
Bookmark
In which year, did Lord Canning announce Queen Victoria's proclamation?
609 98 ME QUITGP(Lord Canning), QI8 G6QIGRIE 6QIVEITE (proclamation) SHLER 6AITEN RHRJ6R?
(A) O 1864
1864
(B) O 1858 (Correct Alternative)
1858 (Correct Alternative)
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(C)O 1881
1881
(D) 1885
1885

Question No. 17 1.00

Bookmark
Which is the fastest spinning planet in our Solar System?

2Ie1 6419 (RN 69 GIE AQ0IQ 96 690169 G1512IN?
(A) O Venus
g (Venus)
(B) © Mars
A1GPR (Mars)
(C) O Earth
92J21 (Earth)
(D) O Jupiter (Correct Alternative) (Choosen Option)
9e9& (Jupiter) (Correct Alternative) (Choosen Option)

Question No. 18 1.00

Bookmark
When the rivers discharge their waters from all the directions in a lake or depression, the pattern is known
as:

61606R6R A998 99 GO ARG BRg 695N 2& @9l sl KISl (lake or depression) F1dlG RIFTN,
69606267 1T dRI 68719 @I |
(A) O Centripetal Pattern (Correct Alternative)
694695 651@1 (Centripetal Pattern) (Correct Alternative)
(B) O Trellis Pattern
69 6811 (Trellis Pattern)
(C) O Rectangular Pattern
6990IgPMIA 651m1 (Rectangular Pattern)
(D) O Dendritic Pattern (Choosen Option)
62¢IR5% 68a1 (Dendritic Pattern) (Choosen Option)

Question No. 19 1.00

Bookmark
Mount Kilimanjaro is located in which of the following countries?

FANGC 686 69469 ARAIZIER ASS (Mount Kilimanjaro) 298672
(A) O United States of America

YUY, 2610a!
(B) O South Africa

QB AT
(C) © Democratic Republic of Congo

626515150 Qe AT K6%P (Democratic Republic of Congo)
(D) © Tanzania (Correct Alternative) (Choosen Option)

@1&IQ2 (Correct Alternative) (Choosen Option)

Question No. 20 1.00

Bookmark
In which year, did the Indian National Congress set up a National Planning Committee to draw a blueprint
for India's economic development?

(A) O 1938 (Correct Alternative)
1938 (Correct Alternative)
(B) O 1948 (Choosen Option)
1948 (Choosen Option)
(C)O 1956
1956

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

(D) 1952
1952

Question No. 21 1.00
Bookmark
Who was the last ruler of Somavamshi dynasty?
64171 9°¢l QIENIRY (Somavamshi dynasty) Q @9 6619 QgIS 2J6m?
(A) O Jajati Kesori Il
HAILT 6@l 1
(B) © Karnadeva (Correct Alternative)
469 (Correct Alternative)
(C) O Udyotakesori (Choosen Option)
LBYILERSIANT (Choosen Option)
(D) © Rajarajal
QLI |

Question No. 22 1.00
Bookmark
When was the Banks Board Bureau established?
i@ 691¢ QY69 (Banks Board Bureau) 6969 o9 62I@1ImI?
(A) O 2015
2015
(B) O 2016 (Correct Alternative)
2016 (Correct Alternative)
(C)O 2018
2018
(D) O 2020
2020

Question No. 23 1.00

Bookmark

Where is the headquarters of the Rubber Board of India located?
QIR 6Q1% 2P &2l (Rubber Board of India) £l8uIme 6990169 ARES?
(A) © Thiruvananthapuram

Geeegas
(B) O Agartala

29QGImI
(C) O Kochi (Choosen Option)

6215 (Choosen Option)
(D) O Kottayam (Correct Alternative)

6L (Correct Alternative)

Question No. 24 1.00
Bookmark
Ozone is a relatively unstable molecule made up of atoms of oxygen.
36110 260”16 6511579 2F9 21§ (unstable molecule) 2I6¢, AL AFRITR ARG 698 §10%
e<lwelld |
(A} O 3 (Correct Alternative) (Choosen Option)
3 @ (Correct Alternative) (Choosen Option)
BO7_
79
©)O 4_
49
D)O 5 _
5¢

Question No. 25 1.00
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Bookmark
Which of the following treaties was signed between Mughal Emperor Shah Alam |l and Robert Clive of the
English East India Company after the Battle of Buxar?

QR YN (Battle of Buxar) 962 6119 g6 QLI 2RI 1| 99° §56 QR Q&2 QLRI Q96 Qo
ERIER 690 §B TG 6TRYRI?
(A) O Treaty of Allahabad (Correct Alternative)
2AIRFITISIS §R (Treaty of Allahabad) (Correct Alternative)
(B) O Treaty of Bassein
699% 9@ (Treaty of Bassein)
(C) O Treaty of Salbai (Choosen Option)
AIRUR §B (Treaty of Salbai) (Choosen Option)
(D) O Treaty of Sugauli
g9 £9 (Treaty of Sugauli)

Question No. 26 1.00
Bookmark
The first meeting of the "National Integration Council" was held in the year:
FARIER "R L°LE URVQ (National Integration Council)" Q goI€1 98I 298¢ 62IRARI?
(A) O 1962 (Correct Alternative)
1962 (Correct Alternative)
(B) O 1986
1986
(C)O 1971
1971

(D) O 1947
1947

Question No. 27 1.00

Bookmark
Who wrote 'Canons of Orissan Architecture'?

IR AP BLEIR AINFEERSR (Canons of Orissan Architecture)' J98 6MEIQ @97
(A) O K.C. Panigarhi (Choosen Option)
64. 9. Q1&g (K.C. Panigarhi) (Choosen Option)
(B) © M.M. Ganguli
el 961 BligPm1 (M.M. Ganguli)
(C) © R.D. Banerji
2. @. [I9IE (R.D. Banerji)
(D) O N.K. Bose (Correct Alternative)
94, 6. 62919 (N.K. Bose) (Correct Alternative)

Question No. 28 1.00
Bookmark
Where is the headquarters of the Asian Infrastructure Investment Bank (AlIB) located? )
Nfar[is PEPILRO0 DEWEEEIE QUi (Asian Infrastructure Investment Bank, AllIB) @ €]Sl4Imet 680169
AQYe?
(A) O Beijing (Correct Alternative) (Choosen Option)
69@&P (Correct Alternative) (Choosen Option)
(B) O Shanghai
4IPIR
(C) O Tokyo
egleaYl
(D) O Manila
QISR

Question No. 29 1.00
Bookmark
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Which among the following types of soils covers the largest area in India?
WAL Q@IQQ AHRER FIMGC 699 TR (@G 6QgIg HRelg?
(A) O Laterite Soil
RICSARG FJ@%! (Laterite Soil)
(B) © Red and Yellow Soil
miM 6 @RG2 @9l (Red and Yellow Soil)
(C) O Black Soll
o9 €189 (Black Soil)
(D) O Alluvial Soil (Correct Alternative) (Choosen Option)
a¢ Al (Alluvial Soil) (Correct Alternative) (Choosen Option)

Question No. 30 1.00
Bookmark
Which among the following Organisations publishes the "World Development Report'?
FImee 6aR AR, 'S¢ Slsl Q6419 (World Development Report)' gR1gie @%@l ?
(A) O World Economic Forum (Choosen Option)
QNG RERICHIAR 6CPIQET (World Economic Forum) (Choosen Option)
(B) © Organisation for Economic Cooperation and Development

ANIFIRERAE PR RERICRITR 6R12AVEALE 2§ 686QREIELIE (Organisation for Economic
Cooperation and Development)

(C) O World Bank (Correct Alternative)

§€] QUi (World Bank) (Correct Alternative)
(D) O World Trade Organisation

@4 QI8IQY 9°6106 (World Trade Organisation)

2) Arithmetic

Question No. 1 1.00
Bookmark
If 84% of a number is added to 368, then the result is the number itself. Find the number.
QA 6915 F°GUIR 84% 7 368 641 6LIIS QAU 6868 TAASIE F6G 698 A°FYI 99 | A°HUIT P4 a9 |
(A) O 2700
2700
(B) O 2500
2500
(C) O 2100
2100

(D) O 2300 (Correct Alternative) (Choosen Option)
2300 (Correct Alternative) (Choosen Option)

Question No. 2 1.00

Bookmark

Sanath and Sridhar together can do a piece of work in 184 days and Sankar can do it in 552 days. In how
many days will Sanath, Sridhar and Sankar do it together?
AQe B F1RIN INE VIR 66115 RIFlg 184 GREQ IK° FIFE 69T QIFIg 552 G660 KRS | A8E, gRIS 6
I IFE GUES 69T RIFITY 696C TR6R E]Er'ﬁi ao6e?
(A) O 136

136
(B) O 134

134
C)O 132

132
(D) O 138 (Correct Alternative) (Choosen Option)

138 (Correct Alternative) (Choosen Option)

Question No. 3 1.00

Bookmark
If a man covers the first half of the journey at 270 kmph and the second half of the journey at 405 kmph,
find the average speed of the total journey. (In kmph)
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23 966 6RIR DIGIR FaIF 2l QG1 270 kmph 691 9° §G16 2RIl @R8I 405 kmph 69 ‘ZI"Eleii @Em , 6969
Q"Qﬁj QALIER IR LINULIR 696 Fla G | (kmph 69)
(A) © 324 (Correct Alternative)
324 (Correct Alternative)
(B) O 344
344
(C) O 334 (Choosen Option)
334 (Choosen Option)
(D)o 314
314

Question No. 4 1.00
Bookmark
A train covers a distance between two stations Pune and Thane in 15 hours. If the speed of the train is
reduced by 96 km/hr, then the same distance is covered in 16.5 hours. Find the distance between Pune
and Thane. (In km)
69 B 26T FIUER QARG 65T 687 15 WEIER €]°€J§i Q6Q | 98 6899 6961 96 km/hr €19 AN 6969
AT QGG 16.5 W&IER EI“Q]f:i @6Q | gee @ 2leq fllea 9ol cdaea | (km 690
(A) O 15830
15830
(B) © 15840 (Correct Alternative) (Choosen Option)
15840 (Correct Alternative) (Choosen Option)
(C)O 15820
15820

(D) O 15850
15850

Question No. 5 1.00
Bookmark
What will be the HCF of 297, 2619 and 539, 4753 respectively?
Leligetl 297, 2619 9%° 539, 4753 @ S].E]I.%l@éiﬂ a7
(A) O 27, 49 (Correct Alternative) (Choosen Option)
27, 49 (Correct Alternative) (Choosen Option)
(B) O 29,53
29, 53
(C) O 28, 51
28, 51
(DR 371 55
3165

Question No. 6 1.00

Bookmark
Find the value of x.

(35x11+81x11+16x11)+(112-41089+44) = x
X 9 FRY Q8 ] |
(35%11+81x11+16x11)+(112-Y1089+44) = x
(A O 17
17
(B)O 15
15
(C) O 11 (Correct Alternative) (Choosen Option)
11 (Correct Alternative) (Choosen Option)

(D)o 13
13

Question No. 7 1.00

Bookmark
Which of the following is divisible by 127

FANYE FRIN 6266 12 TSI FAURY 689?
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(A) O 1221468953
1221468953
(B) O 1221468936 (Correct Alternative) (Choosen Option)
1221468936 (Correct Alternative) (Choosen Option)
(C) O 1221468962
1221468962
(D) O 1221468958
1221468958

Question No. 8 1.00

Bookmark

The average of 4 terms is 131 and the 15t term is 1/3 of the remaining terms. What will be the first term?
4 5 28R QIQITIR 131 99° galel o614, 294 99 DS 1/3 26T | 921 A°GIUIT 6966 6827
(A) O 131 (Correct Alternative) (Choosen Option)

131 (Correct Alternative) (Choosen Option)
(B) O 135

135
(CYO 129

129
(D)o 133

133

Question No. 9 1.00
Bookmark
Find the HCF of 185, 370, 555 and 740.
185, 370, 555 6 740 9 5.91.9 fda @ |
(A O 195
195
(B) O 205
205
(C) © 185 (Correct Alternative) (Choosen Option)
185 (Correct Alternative) (Choosen Option)
(D)YO 175
175

Question No. 10 1.00
Bookmark
A number consists of two digits. If the digits interchange places and the new number is 7/4™ of the
original number. Find the possible original number from the given options.
601G 2°6lYl YT ARG 69 G106 | 94 AFYETIR YING IOYR U6 ALRLLR KU, 6569 G A°5HYI,
AR SoBIYIQ 7/4 629 | OB FQFYER FIQ ARURY Ff LoSYIT oo ax |
(A) O. 28
28

B) O 22
22

€)O 26
26

(D) O 24 (Correct Alternative) (Choosen Option)
24 (Correct Alternative) (Choosen Option)

Question No. 11 1.00

Bookmark
Average of five numbers is 49. If one number is excluded the average becomes 47. Find the number
which is excluded.
AIEHIT IR LIURIT 49 26T | AT 69T LI QR T2, 6267 LIAULIA 47 §9 | Q1L 2R
eYYIS F4la a9 |

(A) O 55
55
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(B) O 59
59

(C) O 57 (Correct Alternative) (Choosen Option)
57 (Correct Alternative) (Choosen Option)

(D) O 53
53

Question No. 12 1.00

Bookmark
Find the value of x.
X x (1049+147.5) = 46663.5
X Q MY FQU8 ! |
X x (1049+147.5) = 46663.5
(A) O 45
45
(B)O 41
41
(C)O 43
43
(D) © 39 (Correct Alternative) (Choosen Option)
39 (Correct Alternative) (Choosen Option)

Question No. 13 1.00
Bookmark
Find the curved surface area of the given cone, whose slant height is 31 cm and its radius is 21 cm. (Use
m=22/7 and in cmz)
g @80l 31 cm ¥8° QYIS 21 cm S8R 65118 699 2 97 JYLno 68GTn Fda ea | (1r = 22/7 QYLLEIR
QR 99° cm? 69Y)
(A) O 2146
2146
(B) © 2046 (Correct Alternative) (Choosen Option)
2046 (Correct Alternative) (Choosen Option)
(C) O 2246
2246
(D) O 2346
2346

Question No. 14 1.00
Bookmark
If 40% of X is 5096, find X.
A3 X 81 40% 62Q& 5096, 6669 X Q MY fda ea |
(A) O 12640
12640
(B) O 12540
12540
(C) O 12740 (Correct Alternative) (Choosen Option)
12740 (Correct Alternative) (Choosen Option)

(D) O 12440
12440

Question No. 15 1.00
Bookmark
Ali can do a piece of work in 210 days and Bruno can do the same work in 420 days. With the help of
Clark, they finished the work in 84 days. Working alone, Clark can do the same work in how many days?
UM 66115 QIAIG 210 TRER IR° G671 697 RIFIG 420 TQ6Q KRGS | QTR L6LIGER 62C116S QIAGg 84
Qe Q°€]§i FAANE | |& 4G5l FIF 6M 69 69T RIAT 6966 TR6Q Q°Q¢1 RAARS?
(A) O 210 (Correct Alternative) (Choosen Option)
210 (Correct Alternative) (Choosen Option)
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(B) O 240
240
(C) O 220
220
(D) O 230
230

Question No. 16 1.00
Bookmark
An article is bought for ¥ 1400 and sold at a loss of 45%. Find its selling price. (In )
6915\ QIFIGNG T 1400 69 @8 45% JL6H &F FAUTIRI | YLIQ S5 TRy ada ea | (Z 69)
(A) O 810
810
(B) O 770 (Correct Alternative) (Choosen Option)
770 (Correct Alternative) (Choosen Option)
(C)O 750
750
(D)O 790
790

Question No. 17 1.00
Bookmark
The ratio of number of girls and boys in a school of 4260 students is 35:36. How many more girls should
be admitted to make the ratio 1:17?
4260 @6l 8IGRILT 2 691159 YMER FIRAI B IRKARE L°61Yl FRIER 2GS 35:36 268 | 9% 2Agaeq 1:1
AR dI 2R 6966 YR QIR FIE ERMIRNG! QNG ?
(A) O 60 (Correct Alternative) (Choosen Option)
60 (Correct Alternative) (Choosen Option)
(B) O 65
65
(€©)o 70
70

DO 75
75

Question No. 18 1.00
Bookmark
If the selling price of 10 articles is same as the cost price of 14 articles. Find the gain or loss percentage.
£ 10 T REYR I94 MY, 145 00T 94 FRY 986 A7IF 99, 6667 F6Rel Al 9l 6 Gda a9 |
(A) O 45% loss
45% QG
(B) O 55% loss
55% G
(C) O 50% profit
50% mitl
(D) O 40% profit (Correct Alternative) (Choosen Option)
40% mIE (Correct Alternative) (Choosen Option)

Question No. 19 1.00
Bookmark
Find the Total Surface Area of Cylinder, given that the radius is 21 cm and its height is 7 cm. (In cm?)
LIS 21 cm 98° AEel 7 cm A9Y 69115 IREAR Ae1g JICHR /ST M ada a9 | (cm? 69)

(A) O 3716
3716

(B) O 3706
3706
(C)O 3726
3726
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Join Us-

(D) O 3696 (Correct Alternative) (Choosen Option)
3696 (Correct Alternative) (Choosen Option)

Question No. 20 1.00

Bookmark

In what ratio must a grocer mix two varieties of pulses costing ¥ 90 and % 120 per kg respectively so as to
get a mixture worth ¥ 104 per kg? ]
@661 6RIRIA1 kg T8I T 104 FAUR GIM ARSI IR kg TR T 90 B T 120 IAIR QR IR CING 696G
2QUIL6R TGIRQI ALEIR?
(A) O 10:11

10:11
(B) O 9:10

9:10
(C) O 8:7 (Correct Alternative) (Choosen Option)

8:7 (Correct Alternative) (Choosen Option)
(D) O 8:9

8:9

3) Analytical Reasoning and Mental Ability

Question No. 1 1.00
Bookmark
Find the next number in the series.
5,6,14,45,6 184, ?
JG9Q 9969 AQE A°GYIT R4 a9 |
5,6,14,45 184, ?
(A O 927
927
(B) O 924
924
(C) O 925 (Correct Alternative) (Choosen Option)
925 (Correct Alternative) (Choosen Option)
(D) O 926
926

Question No. 2 (Case Study From Q.No 3 To 7) 5.00

Bookmark
Directions: Read the given information carefully and answer the questions that follow.
A, B, C, D and E sit in a table facing South direction and P, Q, R, S and T sit in another table facing North
direction not necessarily in the same order. People sitting in a table faces the people sitting in the other
table.
a) R sits opposite to the one who is second to the left of C.
b) E and B are neighbours.
¢) Q, who sits at one end of the row, sits second to the left of P who doesn't face C.
d) Aand S face each other.
e) B doesn't sit at the middle of the row.

Bookmark
Who sits at an end of the row?

PR 69154 gIgen @9 2a8?
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(A)O B
B
B)O C
C
CorT
T
(D) O S (Correct Alternative) (Choosen Option)
S (Correct Alternative) (Choosen Option)
Bookmark
Which of the following is the odd man out, with respect to the arrangement?
UGl 2A99I6R FYRGCS FRIQ 6QQT 21AGPS (odd man out) 266'?
A O D
D
B)O Q
Q
(C) O R (Correct Alternative) (Choosen Option)
R (Correct Alternative) (Choosen Option)
DYO A
A
Bookmark
Who sits exactly opposite to the one who sits second to the right of A?
A QQITIE 9% §010 2F6R €42S1 6AIRA OF FANNG 69 @9 TR?
(A) O P (Correct Alternative) (Choosen Option)
P (Correct Alternative) (Choosen Option)
BO R
R
©orT
T
DO Q
Q
Bookmark
Who sits exactly opposite to Q7
Q 2 0% SIS 69 @9 98?
A) O C
C
B O B
B
(C) O D (Correct Alternative) (Choosen Option)
D (Correct Alternative) (Choosen Option)
OO E
E
Bookmark
Who sits to the immediate left of C?
C @ 0% QIfl 9¢6a &9 94&?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

oo >>

(C) O E (Correct Alternative) (Choosen Option)
E (Correct Alternative) (Choosen Option)

Do B
B

Question No. 8 1.00

Bookmark

Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
End, Resume, Stop, Terminate, Finish )
QIAMEIS QSIS CRIQ @IGQI@ 97 PEY QULER IFIOF ST 99° 66159 AFL GI07 998 | 6aG% 698
AfL6a AIFIM 699 QI1E?
End, Resume, Stop, Terminate, Finish
(A) O End

End
(B) © Terminate

Terminate
(C) O Finish

Finish
(D) © Resume (Correct Alternative) (Choosen Option)

Resume (Correct Alternative) (Choosen Option)

Question No. 9 (Case Study From Q.No 10 To 12) 3.00
Bookmark
Directions:
In a certain code language:
'papaya is good fruit' is written as '9% 8# 4$ 3@,
‘good fruit is tasty' is written as '8# 3@ 7= 9%',
‘tasty papaya is fresh' is written as '7= 4% 9% 2!',
‘fresh good tasty apple' is written as '2! 7= 5> 8#'.
feaaem:
9@ PEY 6717 QUSIER :
'papaya is good fruit' § '9% 8# 43 3@' QI6S 6MSll AIRE,
'good fruit is tasty’ @ '8# 3@ 7= 9%' Q6% 66l RS,
'tasty papaya is fresh' @ '7= 4$ 9% 2!' QI6S 6mSl YIRS,
‘fresh good tasty apple’ § '2! 7= 5> 8#' GI6% 6m&ll RS,

Bookmark
What does the code '4$' stand for?

6612 '4%' QI2l IR QEY?

(AQO is
is
(B) O good
good
(C) O papaya (Correct Alternative) (Choosen Option)
papaya (Correct Alternative) (Choosen Option)
(D) O fresh
fresh

Bookmark
What does the code 2! 3@' stands for?

6918 2! 3@’ QI2! A1 QEY?
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(A) O tasty fruit (Choosen Option)
tasty fruit (Choosen Option)
(B) O fruit fresh (Correct Alternative)
fruit fresh (Correct Alternative)
(C) O fresh papaya
fresh papaya
(D) O good tasty
good tasty

Bookmark
What is the code for 'apple' in the given code language?

d9ea 67le QY6 'apple’ @ 6% @'l 6897

(A O 2!
2!

B)O 7@
@

(C) O 5= (Correct Alternative) (Choosen Option)
5> (Correct Alternative) (Choosen Option)

(D)O 8#
8#

Question No. 13 1.00
Bookmark

Two persons A and B, stand at the same point. A walks 11km East, takes a right turn and walks 6km and
turns left and walks 2km. B walks 3km towards West; turns right and walks 7km; turns right again and
walks 16km. How far is A from B?
9@ RS QYE A B B 66115 QIR FGER BFI 6LIRRE | A qga‘ QOIS 11km LS| F6Q 6815 QILIE 671G 676M
4Q° 6km SIMEM 9S° QIF 671IQ 69@ 2km SIMEM | B 9861 Q9168 3km SIR6M; SILI6G 9M 7km SIRMEM,;
QG‘G‘ISI gIeIg 9 16km SI6M | B OIQ A 696% 9R6R ARK?
(A) O 10km

10km
(B) © 13km (Correct Alternative) (Choosen Option)

13km (Correct Alternative) (Choosen Option)
(C)O 12km

12km
(D) O 15km

15km

Question No. 14 1.00

Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
H,F,UPN .
QEIMES UERIT CRIQ §I6‘61I§ 9@ AL QN IRIOR 26T 99° 64lIT Qge G10% K98 | 699G 698
dOeeq difim 689 Qle?
H,F,UPN

(A) O
(B) O
© 0O

ZZ I T U7

(D) O U (Correct Alternative) (Choosen Option)
U (Correct Alternative) (Choosen Option)

Question No. 15 1.00
Bookmark
If all the vowels are replaced by the immediate next consonant from the English alphabet series in the
word COLONIZATION, then the letters of the word are arranged alphabetically, which letter will be
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seventh to the right of the third letter from the left?

29 6§15 COLONIZATION 69 2|91 9719 99 24 Re IR SdAIRIA O aeR6l SUEe a4 IRl 98gIae
ST [NARCEN 218@61@@ Q4 2gdIea d9ln 6melIAN 6069 QIfl ALR QU1 YR QA LW K% LDl
G0 AVR 60RF 6297

(A O J
J

(B)O N

N
©o C
c

(D) O P (Correct Alternative) (Choosen Option)
P (Correct Alternative) (Choosen Option)

Question No. 16 1.00

Bookmark
Which of the following symbols should replace the questions mark (?) in the given expression in order to
make the expression ‘S = T’ definitely true?

S?Nz1z2T>C>H ] )
aegalg ‘'S = T' g FEe 6d 96y K4Sl IR g9a JadRIfen 2191 g4 68 (?) 21960 FgRee 699 go1a
QLRI AENK?

S?Nz12T>C>H
(A) O

(B) O
© O

A

INIA V VA

(D) O = (Correct Alternative) (Choosen Option)
= (Correct Alternative) (Choosen Option)

Question No. 17 1.00
Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given
series?

(1), (2), (3), (4) VTN FEIA FAURN 2T FIRYS FUR 679 8], YTB GFIR UGG &F 6267
AYo 1

1
B)O 4

4
)0 2
2

(D) O 3 (Correct Alternative) (Choosen Option)
3 (Correct Alternative) (Choosen Option)

Question No. 18 1.00

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) closely resembles the mirror image of the
given figure? ]
(1), (2), (3), (4) VILEQ TR FALIR 2 FIREIC IR 689G 8T, IR &R Qdé geaan faces agd
aeg ?

1
1
3
3

(C) O 2 (Correct Alternative) (Choosen Option)
2 (Correct Alternative) (Choosen Option)
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DO 4
4

Question No. 19 1.00

Bookmark
If, in the number sequence 478465123547, all the odd numbers are increased by one and all the
even numbers are decreased by two, then the new number sequence is arranged in ascending order,
which will be the eighth digit from the right?

AR IR M §F147846512354 760291 999 2T A°6lUI6R 98 9F QUL 99° 9019 g o5l
Yo L9 atld 99° g 9°aYl gl dIPQ 96 GreR dult 6malldid 6669 LILIE aWq 2™ S 6R66
6997
(A) O

8
8
(BYO 4
4

(C) O 2 (Correct Alternative) (Choosen Option)

2 (Correct Alternative) (Choosen Option)
DO 6
6

Question No. 20 1.00
Bookmark
Find the next number in the series.
756, 702, 627, 531, 414, ?
J9R GFI6Q 9eE! 2°gUIE fda a9 |
756, 702, 627, 531, 414, ?
(A) O 276 (Correct Alternative) (Choosen Option)
276 (Correct Alternative) (Choosen Option)
(B) O 275
275
G0 2
277
(D) 278
278

Question No. 21 1.00
Bookmark
D is in the West of B. Ais in the South of B and North of C. Which direction of D, is C?
B Q 08166 D 2& | B Q @F& 62 95° C Q Q09 69 A 2& | D R 69Q G669 C 2AR?
(A) O North-East
AARA-gL
(B) O South-East (Correct Alternative) (Choosen Option)
G‘ﬁél-q_é (Correct Alternative) (Choosen Option)
(C) O South-West
QEVE-A8El
(D) O North-West
QRQ-A&

Question No. 22 1.00

Bookmark
In this question, relationship between different elements is shown in the statement. This
statement is followed by two conclusions:
Statements: N<O;E>T.AsT. 0O=D;A>N
Conclusion:
hD>N
iO=>T

Choose the appropriate one from the following options
(A) Only conclusion i follows
(B) Only conclusion ii follows
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(C) Either i or ii follows
(D) Neither i nor ii follows
(E) Both i and ii follow.

9T 9969 F0G QUILIE FRIER 2SI I°UFG SRTY6R FLFiS FAUAINE | 9T 929 69 9AF Fad
QAANE:

QREEN<O;E>TA<T.0=D;A>N

aad:

iy D>N

i)O>T

FINGIC TRFYLR FRIQ RAYS T4F 604G 998
A) 6297 Gud | 29998 R6Q
B) 6097 fad i AgIRE R6%
C) fadi A9 i AgA08 @6
D) 894 | @) ii AL [6R QIR
E) aael 5ad i G i 2906 K62 |
(A)O D

D
(B)O B

B

(
(
(
(
(

(C) O A (Correct Alternative) (Choosen Option)
A (Correct Alternative) (Choosen Option)

D)o ¢
C

4) Computer and Internet Awareness

Question No. 1 1.00

Bookmark
You can use the option in Microseft Word to quickly mark the important text with the bright
background text colour.

QAGR SUIRGIAE 69§F FMA (bright background text colour) 986 9804 65899 919 556 FaSI AIR
298 FIREFIFL 41T (Microsoft Word) 69 2SI AADG QULLIR KRGS |
(A) © Drop cap
@d QU1 (Drop cap)
(B) O Watermark
@IeQqIs (Watermark)
(C) O Text highlighter (Correct Alternative) (Choosen Option)
6997 LInMING'S (Text highlighter) (Correct Alternative) (Choosen Option)
(D) O Word art
@l 218’ (Word art)

Question No. 2 1.00

Bookmark
Which features in Microsoft Word allows a person to do proofing a document and mark suggested editing
and deletions?

(A) O Compare
@612 (Compare)

(B) O Proofing (Choosen Option)
(Choosen Option)

(C) O Validation
QIRELER (Validation)
(D) O Track Changes (Correct Alternative)
gle 66& (Track Changes) (Correct Alternative)

Question No. 3 1.00
Bookmark
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The function in Excel to add all the numbers in a specified range is
NI QGQ Q9 (specified range) 64 IF1E FI°61Yl 6B IR J6gm (Excel) 6‘6\ 2Ql e (function)
o0& I
(A) O GROUP
GROUP
(B) O AVG
AVG
(C)O ADD
ADD

(D) O SUM (Correct Alternative) (Choosen Option)
SUM (Correct Alternative) (Choosen Option)

Question No. 4 1.00
Bookmark
What does .net refer to with respect to website?
69QQING ALEER .net FEEM 96l QeI ?
(A) O nano
21621 (nano)
(B) O new
g4 (new)
(C) O network (Correct Alternative) (Choosen Option)
[ ataEi[= (network) (Correct Alternative) (Choosen Option)
(D) O national
QUM (national)

Question No. 5 1.00
Bookmark
command is used to enter a route information into the route table manually.

%' 695 M (route table) 6% ﬂl‘@?il@ (manually) 65115~ NS aeeredas (route information) Y43 89S (=1
@€ QUL R |

(A) O Route start
Qe |15 (Route start)
(B) O Netstat
6RGRIG (Netstat)
(C)y © Route add (Correct Alternative) (Choosen Option)
219" 2lIe' (Route add) (Correct Alternative) (Choosen Option)
(D) O Net start
696 |G (Net start)

Question No. 6 1.00

Bookmark
What does a rectangle in flowchart indicate?

651 SIF6R (flowchart) 66lI5N 2RF6EG (rectangle) FIRU K€l g6e 99?
(A) O Process (Correct Alternative)
6416494 (Process) (Correct Alternative)
(B) O Input
@IS (Input)
(C) © Output (Choosen Option)
2Ig'gs' (Output) (Choosen Option)
(D) O On page connector
e 6d4 @6629 (On page connector)

Question No. 7 1.00

Bookmark
is a system monitor program used in Windows that give the details on processes and
application running.

@64l (Windows) 69l QYE'EIS 6ER2<! 6515 961 1G9 69IGlIE1 (system monitor program)
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2169 Q9] gEAIGER (processes) 99° QR 92IQl 2GRS (application) TR A°Y4 TeE 9LIF F69

(A) O Task Manager (Correct Alternative) (Choosen Option)
Q1€ FNI6R R % (Task Manager) (Correct Alternative) (Choosen Option)
(B) © Computer Management
UG FlHIeR@ECIE (Computer Management)
(C) O Windows Messenger
@64l 6716989 (Windows Messenger)
(D) O System Information
A/6 RRCP6sige (System Information)

Question No. 8 1.00

Bookmark
Which among the following options is used to launch a PowerPoint in full screen mode?

691159 QIGIR 994 (PowerPoint) § ¥R &8 6118 (full screen mode) 69 2INE ASI AIR FIRES 699 §aF
UL FRULIN?
(A) O Slide sorter
YT AR (Slide sorter)
(B) © Page layout
64 6mallYg (Page layout)
(C) O sSlide show (Correct Alternative) (Choosen Option)
I 6511 (Slide show) (Correct Alternative) (Choosen Option)
(D) © Handouts
@Yl€2llve (Handouts)

Question No. 9 1.00
Bookmark
Which among the following is a cloud storage service offered by Microsoft?
AIREFIAL (Microsoft) TIR TAARLYS| FIAT 6RI6R 649 (cloud storage service) FIRYE FUI 68RT
2697
(A) O One Drive (Correct Alternative)
gle €I9% (One Drive) (Correct Alternative)
(B) O Skype (Choosen Option)
3 (Skype) (Choosen Option)
(C) © mCloud
m{lee (mCloud)
(D) O Dropbox
wdeg (Dropbox)

Question No. 10 1.00
Bookmark
EEPROM is also known as .
EEPROM wlee 14 wéllgél 2es' |
(A) O Flash Memory (Correct Alternative) (Choosen Option)
14 6616911 (Flash Memory) (Correct Alternative) (Choosen Option)
(B) O Flash Card
QI K€ (Flash Card)
(C) © Memory Power
661651191 DIGIQY (Memory Power)
(D) O Pseudo memory
gueel 6¢16¢1I11 (Pseudo memory)

Question No. 11 1.00

Bookmark
Which of the following types of Operating Systems, uses multiple central processors to serve multiple
real-time applications and multiple users and the systems are loosely coupled?
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FIRGS dRlem 29695 G8¢l (Operating Systems) F1eIQ 69915, 9RRF QRR-CIRE 2TYSKRIG (real-time
applications) 99° \‘IQIE:JE? Q.ﬁaﬁi’ 6451 gIE K99 din A68R 64élIm 64I6949 (multiple central
processors) fUSLIR ARSI 98¢ Q&ﬂﬂ@ﬁi LIN@l @6 6<l@elN (loosely coupled)?
(A) O Distributed operating System (Correct Alternative)

©89Y69'e 26T A]el (Distributed operating System) (Correct Alternative)
(B) © Network operating System

6604Ia 2d65° 896 (Network operating System)
(C) © Time-sharing operating systems

FIRF-6AAAGP AVERQT° TR (Time-sharing operating systems)
(D) O Batch operating system (Choosen Option)

Qe 296915° 9]¢ (Batch operating system) (Choosen Option)

Question No. 12 1.00

Bookmark
The input device that is also called a pointing device is

66115 RRYE SRR (input device) 6T, LTI ‘E}\‘]Q«Eﬂ’ @Q@E (pointing device) 712l QLIAI |

(A) © Mouse (Correct Alternative) (Choosen Option)

flleld (Mouse) (Correct Alternative) (Choosen Option)
(B) © Scanner

a9 (Scanner)
(C) ©O Microphone

FIRERI6PIR (Microphone)
(D) © Webcam

649RYIE1 (Webcam)

Question No. 13 1.00

Bookmark
What is the full form of LAN?

LAN @ ggl Qi1 /'€?
(A) O Local Area Network (Correct Alternative) (Choosen Option)
MM 902 656GIe (Local Area Network) (Correct Alternative) (Choosen Option)
(B) © Location Area Network
6MIERLR 952N 6994IS (Location Area Network)
(C) O Limited Area Network
ME652 92 6254l (Limited Area Network)
(D) O Lowcost Area Network
CRINY IR 6554IR (Lowcost Area Network)

Question No. 14 1.00

Bookmark
In a standard keyboard, the keys present on the top of the row are called

4% ARIE K166 (standard keyboard) 69!, 990 @A UIETER 29 1 (keys) 918G qeldig |
(A) © Numeric keys
QUEFIRR @1 (Numeric keys)
(B) O Navigation keys
@I@eg9e @1 (Navigation keys)
(C) O Alphabet keys
dIMCPIERS @1 (Alphabet keys)
(D) O Function keys (Correct Alternative) (Choosen Option)
Fda @1 (Function keys) (Correct Alternative) (Choosen Option)

Question No. 15 1.00
Bookmark
What is the shortcut key to invoke a spell check dialog box in MS Excel? !
MS 96gm (MS Excel) 65 69m 6597 @IRMIS @F (spell check dialog box) 65ImS! AR QQQQ @1 (shortcut
key) @'4l?
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(A) O F10
F10
(B) O FT (Correct Alternative) (Choosen Option)
F7 (Correct Alternative) (Choosen Option)
(ClO F12
F12
(D)O F9
F9

Question No. 16 1.00

Bookmark
What will happen when you press the shortcut key Ctrl + Del?

a6ag @1 (shortcut key), Ctrl + Del QIT6M &'l 6897
(A) O it will delete the selected item (Correct Alternative)
ARG ARG 9L TG FN6SS (it will delete the selected item) (Correct Alternative)
(B) O it will delete the next item (Choosen Option)
JORE RGN 99 GRS SR6ER (it will delete the next item) (Choosen Option)
(C) O it will delete the non-selected item
SRQ 621R §2QI 2INTAG 9L T FELS (it will delete the non-selected item)
(D) O it will delete the adjacent item
9g] FRF6R 23 ARSI TS AR6LT (it will delete the adjacent item)

Question No. 17 1.00

Bookmark
What is an electronic device that processes the input according to the set of instructions provided to it and
gives the desired output?

IR REME]IFR GRIRg (electronic device) @'¢l, DITI 981G TRAYIRYS FeE6R 698 (set of instructions)
gL Regs (input) g 64I64E K62 99° ARG AIRAT'YY (desired output) 6SR2IN |
(A) O Mouse
¢llwed (Mouse)
(B) © Monitor
A89'9 (Monitor)
(C) O Keyboard
Q16Q1€ (Keyboard)
(D) O Computer (Correct Alternative) (Choosen Option)
@eUS'R (Computer) (Correct Alternative) (Choosen Option)

Question No. 18 1.00

Bookmark
option in Excel allows you to set boundary limits to print only the select specific range of cells in
that boundary.

Jegm (Excel) 61 299R, 26l g IR 161 @9 K091 9TE 699 69T A FRIEA ARIS G‘Qﬂ-
6AmgER (cells) ‘6\ ge qal a AGAE 99 |
(A) O Clear Print Area
G215 84 9R2l (Clear Print Area)
(B) O Select Page Orientation
Jeme 699 Bor96Q49% (Select Page Orientation)
(C) O SetPage Border
64% 6% 6916 (Set Page Border)
(D) O Set Print Area (Correct Alternative) (Choosen Option)
699 @4 952 (Set Print Area) (Correct Alternative) (Choosen Option)

Question No. 19 1.00

Bookmark
The first widely used application of multimedia is

JRIFRG QLR QU6 FULLIR 68IRLSI AREAGE 2IFeRaR (appllcatlon of multimedia) aeg' |
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(A) O Electronic mail (Choosen Option)
REMEL IR 661R (Electronic mail) (Choosen Option)
(B) O Records management
69Q% 416996516 (Records management)
(C) O Image processing
R6Q 69I699° (Image processing)
(D) O Document Image management (Correct Alternative)
296614 N6FR AY6ER6718 (Document Image management) (Correct Alternative)

Question No. 20 1.00
Bookmark
is the process of finding and resolving bugs during the software development process.
ALEFUR 6QEVMAEEIE (software development) JTLIER 62QR 661159 9T, QI IR 95|

(bugs) 68IIWRI 99° 62]‘51@‘5"6‘( deliIs (resolve) QU] |
(A) © Running
Q&GP (Running)
(B) O Debugging (Correct Alternative) (Choosen Option)
©@90leP (Debugging) (Correct Alternative) (Choosen Option)
(C) © Flowcharting
619136 (Flowcharting)
(D) © Simulating
ACEMEEP (Simulating)

5) Current Affairs National and International

Question No. 1 1.00
Bookmark

Giorgia Meloni was recently appointed as the Prime Minister of which country?
APges 686 69499 QIR g1 oed FaIGal 6a6RIG (Giorgia Meloni) § 349 UAIRS ?
(A) O Sweden
qeeq
(B) O Italy (Correct Alternative) (Choosen Option)
RG'IMm1 (Correct Alternative) (Choosen Option)
(C) O Germany
adiq
(D) O France
gl

Question No. 2 1.00
Bookmark
The 'Porcupine strategy', which recently appeared in news, is related to which of the followmg countries?
QREIR HIAER 21921 ’EJGiE]IE:]Q Q611G (Porcupine strategy)' Ggmge 699 694 936 gAae?
(A) O Taiwan (Correct Alternative)
CINEle (Correct Alternative)
(B) O Israel
agNm
(C) O Nepal
eadim
(D) O Afghanistan
2icraliagle

Question No. 3 1.00

Bookmark
Which country will host the 28th session of the Conference of the Parties (COP 28) of the UNFCCC?

UNFCCC Q @QPeq, &k @ QTG (Conference of the Parties, COP 28) @ 286¢] 2RI6YEl 679 6266

NGRS 62972
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(A) O China
21
(B) O India
Lloe
(C) O United Arab Emirates (Correct Alternative)
PINCTE 2INS ARG (Correct Alternative)
(D) O Egypt
QA

Question No. 4 1.00
Bookmark
In November 2022, Monkeypox is renamed as by WHO.
FERAR 2022 69 FI@AF (Monkeypox) § WHO QU6 g2l 219 6QRE |
(A) O mpox (Correct Alternative)
mpox (Correct Alternative)
(B) O mypx
mypx
(C) O my-pox
my-pox
(D) © mopx (Choosen Option)
mopx (Choosen Option)

Question No. 5 1.00

Bookmark
Which state's Wildlife Board has recently approved a reserve for tigers named 'Durgavati Tiger Reserve'?

699 QURIQ TRYYIEN 691E (Wildlife Board) €I°g%@ QAo IR 691159 AReEia AZEAINT 908 LILIR QIF
'Qﬁl‘&‘m Mg Sael (Durgavati Tiger Reserve)' 26%'?
(A) O Andhra Pradesh
g deqsl
(B) © Maharashtra (Choosen Option)
191U, (Choosen Option)
(C) © Madhya Pradesh (Correct Alternative)
712 4694l (Correct Alternative)
(D) O Chhattisgarh
RG0S

Question No. 6 1.00

Bookmark

In October 2022, which country has been re-elected as the president of the International Solar Alliance
(ISA) for a term of two years? ]
26RO 2022 69 689 696l Y o8 99 REALYILRIR 6NN AR, (International Solar Alliance, I1SA)
QA JRUDEG QUEQ ElQSf?G‘I@G‘ AUAIRRE?
(A) O Germany

@elign
(B) O France

9314
(C) O India (Correct Alternative) (Choosen Option)

WG (Correct Alternative) (Choosen Option)
(D) O Brazil

giam

Question No. 7 1.00
Bookmark
The Fifth edition of Khelo India Youth Games was held in which among the following states?
6sieml @82l gel 651¢1 (Khelo India Youth Games)Q 9551 °92¢ FIRGYS 696 AURYER SICAHS
6LInemI?
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(A) O Maharashtra
ALIUYL
(B) O Uttar Pradesh (Choosen Option)
@R d6<Qsl (Choosen Option)
(C) © Madhya Pradesh (Correct Alternative)
£1%l g69'¢l (Correct Alternative)
(D) O Haryana
alalial

Question No. 8 1.00

Bookmark
The European Space Agency has named the first ever "parastronaut” in a major step towards allowing
people with physical disabilities to work and live in space. What is the name of the first parastronaut?

L6 694 \‘169%;, SIS 2V 6RIR (people with physical disabilities) & FLIRIEERQ FUF KA 9Q°
Q&9 din 9961 KRR GoleR g K0 96 gejs 06t "AINZICRIGY" (parastronaut) QI6S KIFIRRE
A | gaIel ARG QI €17
(A) O John McFall (Correct Alternative)
@0 q fYILPm (John McFall) (Correct Alternative)
(B) O Jonathan Peacock
6@IFI2Ie T9] (Jonathan Peacock)
(C) O Oscar Pistorius
(39 A6”I[2Y (Oscar Pistorius)
(D) O Alan Oliveira (Choosen Option)
2R BREeLU (Alan Oliveira) (Choosen Option)

Question No. 9 1.00

Bookmark
In October 2022, India successfully test-fired indigenously-developed new generation medium-range
ballistic missile 'Agni Prime' from the coast of which State?

Q6] 2022 69 VIAGR YRIFERIEINER FRES @@9 de1a FRIF-698 QIREE 68a8I9 ‘2T giee
(medium-range ballistic missile 'Agni Prime’) @ 696 AR 499 9 dOPReIal 99 69'/-CFINR (test-fire)
QARR?
(A) O Karnataka
adion
(B) © Tamil Nadu
SIORRIg
(C) © Odisha (Correct Alternative) (Choosen Option)
(3@$ll (Correct Alternative) (Choosen Option)
(D) O Kerala
6qaUm

Question No. 10 1.00

Bookmark
Which State has recently notified 'Terai Elephant Reserve'?

ArgEe 699 QURY '6SAURN TIT1 HRE! (Terai Elephant Reserve)' @YA6Q o0l 9IF a0&?
(A)Y O Gujarat
g
(B) O Uttar Pradesh (Correct Alternative)
LAY 6951 (Correct Alternative)
(C) O Odisha
(€225
(D) O Karnataka (Choosen Option)
adigq (Choosen Option)
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